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1.
• Robert’s accident was bad.
• John’s accident was worse.
• Robert’s accident wasn’t as bad as John’s 

accident.

2.
• David’s toy collection is big.
• Amanda’s toy collection is bigger.
• David’s toy collection isn’t as big as 

Amanda’s toy collection.

3.
• My daughter’s college is strict.
• Your daughter’s college is stricter.
• My daughter’s college isn’t as strict as 

your daughter’s college.

4.
• Susan’s career is interesting.
• Jessica’s career is more interesting.
• Susan’s career isn’t as interesting as 

Jessica’s career.

5.
• Karen’s credit card interest is high.
• Lisa’s credit card interest is higher.
• Karen’s credit card interest isn’t as high as

Lisa’s credit card interest.

6.
• Betty’s basket is full.
• Daniel’s basket is fuller.
• Betty’s basket isn’t as full as Daniel’s 

basket.

7.
• Matthew’s bread is delicious.
• Anthony’s bread is more delicious.
• Matthew’s bread isn’t as delicious as 

Anthony’s bread.

8.
• Last week’s homework was difficult.
• Yesterday’s homework was more difficult.
• Last week’s homework wasn’t as difficult 

as yesterday’s homework.

As… As…
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GRAPHIC CREDITS

DERECHOS DE USO:
Queda prohibido vender o hacer uso comercial de cualquier 
parte del material y videos encontrados en el canal de YouTube y 
sitio web de: Inglés Paso a Paso con Lucie / Cursos de Inglés ATS. 
No se puede alterar ninguna parte de este material para 
venderlo, editarlo, cargarlo a redes sociales, o hacer cualquier 
otro uso que no esté autorizado por escrito.

https://www.inglespasoapasoconlucie.com/graphic-credits/

